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Con. 13-13. DW-12
(REVISED COURSE) a6
(3 Hours) [ Total Marks : 1y

N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Tie the two sections together.

Section |

Explain the meaning of the following terms (any five) ‘—
(a) Industry (f) Entrepreneur
(b) Consumer satisfaction (g) Incentives
(c) Economic union (h) Growth of Business
(d) Mission (1) Turnaround
(e) Project planning (1) Surgical strategy.

o Answer any three questions from the following -—
(a) Define business and explain the functions of business.
(b) What is business environment ? Explain any five features of business
environment
(c) “WTO failed to give fair treatment 1o developing countires”. Explain the
statement.
(d) Distinguish between economic objectives and social objectives.
(e) State and explain the steps involved in setting up of a business unit.
(fy Explain the factors influencing business growth.

Study the case and answer the following questions -~

Research and Development (R & D) is now considered the new star of the Indian
economy. Americans who worry about the migration of call centres to India also
consider rise of R&DiniIndiaasa potential threat. American companies are now
settingup R&D centres in India. They aré not coming for cheap labour but for India’s
prain. The list of MNCs setting up R & D centres in India includes General Electirc,
Microsoft, IBM, Cisco, Intel, General Motors, Astra Zeneca, Motorola, Taxas Instruments etc
GE does research in Bangalore on aircraft engines and turbine components. This is
helping to reverse the supposed brain drain. Several Indian scientists who had migrated
to US are coming back to India. GE plans to raise R & D staff from 1,600 to 2,400

technicians. Bangalore has GE'’s second largest research centre in the world.
The best known Indian R & D companies are in Pharmaceuticals. Biotechnology is
a now hot spot with Biscon and Shanta Biotech leading the way. Less high profile
but more significant may be the mushrooming of new companies to do contract R& D

‘gr global corporations.
~ auto industry is another beehive of innovation. Mumnatlona\ car companies
~|lly came 10 India for the huge domestic market. In order to cut costs they Used
wponents of lower quality. But soon the interaction between cOomMpOfent
ars and MNC’s led to not just quality improvement but innovationsthat
aamed of earlier.

as occupied the status of star industry in India ? Give reasons.
ming of R& D in India favoured by MNCs ?
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rhhe meaning of the f llowing termr
Explain 1

section ||

'S (any five)

() Food court

() Survival strategy
(h) Call centres
() K.P.O.

(1) Medical Tourism

(a) EBBanking system
(b) ATMs 7

;’c) > ouble Insurance
fd) 2 ural_ Feliephony
(e) H ospitality

Answer any three questions from the following :—
ns

(b) W : e :

(c) State and explain the prmc:lpres O,f Insurance.

(d) Discuss career options available in Transport sector.

(e) Distinguish between organised and unorganised retailing in india.
(f) “Out sourcing has bright prospects in India”. Discuss this statement.

Study the case and answer the following questions :—
Recognising the contribution and undis

the retial segment today, Koutons has recently won the most admired fa

for the year 2008 by Image Fashion Awards. Further, Koutons Retail Chair
Kohli has been chosen as the most admired fashio
the clear winner in a consumer

shion group
manD.P. S.
n face of the year, Mr. Kohli was

Questions :
(a) What are the reasons f

and children markets 2
(b) What strategies Kout

Ons must adopt to foray into overseas markets ?
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Con. 01-13. Yedhmers) DW-1106
’ (3 Hours) . [Total Marks : 100
N.B.: (1) Answer any two questions from Section I.

(2) Answer any three questions from Section II.

(3) Answer to both sections is to be written in the same answer book.
(4) All questions carry equal marks.
(5) Figures to the right indicate marks to a sub-question.
(6) Graph paper will be provided on request.
(7) Use of non-programmable calculator is allowed.
Section I
1. (a) A piece of land was sold for ¥19,00,000 through a broker who received 1.25%
commission from the seller and 1.75% from the buyer. Find the amount paid by
the buyer. Also find the amount received by the seller and the broker.
(b) An article was listed at ¥5,000. It was sold by the shop owner at a 30% discount
and thus a profit of 75% on cost was earned. Find the cost price of the shop owner.
(¢) Mr. X, Mr.Y and Mr. Z shared a transport business by investing ¥ 1 lakh each.
Mr. X left after 5 months from the commencement of business and Mr.Y left

!‘\J

(d)

(a)

(b)

(c)

(d)

3 months later. At the end of the year the business realized a profit of ¥ 37,500.
Find the share of profit of each partner.

At what price should goods costing 16,000 be sold through an agent so that after
paying her a commission at 4% on sales, a net profit of 20% on cost can be made ?

Mr. Umesh purchased 75 shares of L & T at market value ¥ 325 per share. He sold
them at the rate of 335 each. Find the investment of Mr.Umesh if he has 0.1%
brokerage on each transaction, also state whether he got profit or loss.

Mr. Pollard has purchased 135 units at NAV ¥ 70 with entry load 2%. He sold all
units at NAV ¥ 75 without exit load. At the end he received profit of ¥ 891 find
the dividend on each unit.

Mr. Mohan has invested T 4,000 to purchase shares at market price T 40 each.
After | year he sold all his shares at price of ¥ 45 and he earned a profit of ¥
1,400 on this transaction. Find number of bonus share.

Solve the following LPP graphically

Minimize Z = 5x + 8y

Subject to constraints 4x + 3y < 60
2x + 5y <50
andx>0,y>0.

[TURN OVER



Con. 01-DW-1106-13. 2
3. (a) Differentiate the following with respect of x.

k|
X" =1

. _ 4 . T
(i) y=x"logx (i) ) 21"

The cost of producing x items is given by 2x? + 5x + 20. Find the total cost,
average cost and marginal cost when x = 10.
The total cost of producing x unit is (x? + 2x + 5) and the price is ¥ (30 - x) per unit.

Find x for which the profit is maximum. :

A profit making company wants to launch a new product. It observes that the fixed
cost of new product is T 35,000 and the valuable cost per unit is T 500. The revenue
function for the sale of x unit is given by 5000x — 100x2. Find the (i) Profit function,
(i1) breakeven function, (iii) the values of x that result in a loss.

Abhay borrowed I 50,000, partly at 8% p.a. and the remaining at 9% p.a. After 2%
years, he returned the total amount with a total simple interest of ¥ 10,500. Find
the amounts he borrowed at each of these rates.

The population of a city is 50 lakhs. If it increases to 73,20,500 after four years
what will be the rate of increase per year if interest compounded annually ?
Sayali will get T 5,000 every year for 3 years, at the beginning of each year.
Find the present value of these payments at 8% p.-a.

Anil had taken a loan of ¥ 60,000 from a moneylender with 10 % interest per month.
He had to repay the loan in 4 months with flat interest rate. Find her EMI.

Section 11

Explain the word “Statistics™ and discuss the limitations of statistics.

The number of students in AVS college in the year 1990 was 500, of which 200
were rural students. In 1991, the number of students increased by 150 and the
urban students increased by 75. In 1992, the number of rural students increased
by 20%, while the total number of students increased by 50%. Tabulate the data.
The following is the distribution of monthly salaries of 925 employees of a company.
Represent the data by a frequency polygon.

Income in T No. of employees
10,000 - 20,000 100
20.000 - 30,000 150
30,000 - 40,000 175
40,000 - 50,000 250
50,000 - 60,000 125
60,000 - 70,000 75
70,000 - 80,000 50
Total
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6.

(a) Theaverage daily wages for 120 workers in a factory are ¥ 78. The average wage for 80 male

(b)

(c)

workers out of them is X 92 find the average wages for the remaining female workers,
Find the mean and mode for the following data :—

Daily wages (in ¥)

20-40

40-60

60-80

80-100

100-120

120-140

140-160

21

No. of employes

28

35

40

24

18

10

The following data gives the frequency of divorces of couples in America after marriage.
Find the M.D from median.

Period in months 0-6 | 6-12 | 12-18 | 18-24| 24-30| 30-36 | 36-42 | 42-48

No. of couples 32 45 50 20 10 15 08 20

(a)
(b)

(c)

(a)
(b)

(c)

(a)
(b)

Write the characteristics of the normal distribution.

Arandom variable follows the probability distribution given below,
X 0 1 2 3 1
P(x)| 0.12 | 023 | 035 | 0.20 | 0.10
Obtain the expected value and variance of X.

A bag contains 3 white and 6 black balls. If two balls are drawn at random, find the
probability that (i) both the balls are white, (ii) both the balls are black, (iii) One of each color.

State the difference between Correlation and Regression.
Find Spearman’s rank correlation coefficient for the following data :—

X 50 66 34 21 15 79 42

Y 31 64 53 4] 17 73 29
Find the regression equations for the following data and hence estimate Y when
X =15and X when Y = 18.

X 10 12 14 19 8 11 17
Y 20 24 25 21 16 22 20

Explain the simple average method to find the seasonal indices of a time series.
Fit a straight line trend equation by method of least squares and estimate the trend
values. Also find an estimate for the year 2009.

Year

2001 2002 2003 2004 2005 2006 2007 2008

Prod

uction

80 90 92 83 94 99 92 104

(c)

From the following data calculate the cost of living index number by the family
budget method. Also obtain the expenditure of the person in the year 2010 if his
expenditure in 2010 is T 600.

(=)

Group Price in 2007 | Price in 2010 Weight
Food 5 12 60
Clothing 16 32 5
Rent 10 30 10
Education 20 60 15
Misc. 15 30 10 [TURN OVER
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10. (a) Write all necessary steps in decision tree analysis. 6

(b) Ganesh Bakery would like to know how many cakes of particular type to stockon 7
daily basis. Past data generated the following pattern of demand.

Cakes sold per day | 50 55 60 65 70

No. of days 21 20 24 16 19

The cost of the cakes is T 30 per unit and the selling price is ¥ 45 per unit a day.
Old stock is worthless. Determine the optimal stock level using EMV.

(¢c) Consider the following pay-off matrix. o
tate of nature El Ez E, E,
Actions
A, 5 10 18 25
A, 8 7 8 23
A, 21 [ 18| 12 | 21
A, 30 22 19 15

For each of the following decision criterion state of optimal decision and associated
pay-off. (i) Maximin (ii) Maximax (iii) Laplace.
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N.B.: (1) From Section I Question No.1 and 2 are compulsory and attempt any one question
from Question No 3 and 4.
(2) From Section II Question No. 5 and 6 are compulsory-and attempt any one question

from the question No. 7 and 8.
(3) Figures to the right indicate full marks.

(4) Working notes should form part of your answer.

{ Section I

From the following Trial Balance of M/s. Omkar Associates, Talegaon, prepare Trading 18

and Profit & Loss Account for the year ended 3 1st March, 2013 and the Balance Sheet

as on that date :(—

Dr. % Cr. €
Capital 3,40,000
Drawings 5,000
Plant & Machinery 50,000
Land & Building 2,00,000
Fixtures & Fittings 30,000
Loose Tools 50,000
Goodwill 25.000
Stock (1.4.2012) 50,000
Purchases 4,10,000
Sales 11,20,000
Returns Inwards and Outwards 20,000 10,000
Discounts 10,000 15.000
Wages 2,10,000
Carriage Inwards 30,000
Salaries 1,04,000
General Expenses 1,28,000
Insurance 52,000
Rent & Taxes 36,000
Postage and Telegrams 10,000
Packing Distribution 23,000
Debtors 1,22,000
Creditors 60,000
Provision for Bad and Doubtful Debts 5,000
Cash at Bank 35,000
Loan from Jay taken on 1st January, 2013@10% p.a. 50,000
16,00,000 | 16,00,000

[TURN OVER
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Also take the following adjustments into consideration :
(a) Stock on 31st March. 2013 was valued at ¥ 77.000.

(b) Depreciate Land & Building at 5% p.a. Plant and Machinery at 10% p.a. and
Fixtures and fittings at 20% p.a. and revalue Loose Tools at ¥ 40,000.

(¢) ¥2.000included in debtors are not recoverable. Provision for bad and doubtful
debts is to be maintained at 5% on debtors.

(d) Omkar drew T 2,000 per month which he charged to Salaries Account.
(e) Prepaid insurance < 1,000.

2. (a) State with reasons whether following are statements are true or false :—
(1) Depreciation is provided to arrive at correct amount of profit.
(2) Land is Non- Depreciable asset.
(3) All factory expenses are debited to manufacturing A/c.
(4) Income received in advance is shown on the asset side of the Balance Sheet.
(5) Sale of scrap is debited to Manufacturing A/c.
(6) Depreciation on Office Equipment is debited to Manufacturing A/c.
(7) Manufacturing A/c gives us cost of production.
(8) Installation expenses of new machinery is debited to Machinery account.

(b) Rewrite the following statements by using the proper choice given under the statement : —

(1) The amount of depreciation appears on
Debit side of Receipts & Payments A/c.
Debit side of Income & Expenditure A/c.
Credit side of Receipts & Payments A/c.
Credit side of Income & Expenditure A/c.

(2) Sale of furniture appears on
Debit side of Receipts & Payments A/c.
Debit side of Income & Expenditure A/c.
Credit side of Receipts & Payments A/c.
Credit side of Income & Expenditure A/c.

(3) Following is deferred revenue expense
Salesman salaries and commission
Heavy advertisement expenses
Rent of the warehouse
Depreciation of Delivery Van

(4) Stock is always valued at
Cost price
Market price
Cost price or Market Price whichever is higher
Cost price or Market Price whichever is lower
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3. M/s. Sirona Industries manufactures & sells special chairs required by the dentists. 16

(5) Goods lost by fire is shown on

Credit side of Trading Account

Debit side of Sales Account

Debit side of Profit and loss Account
Credit side of Purchases account

(6) Outstanding expense appearing in the trial balance should be shown
Credit side of Trading account
Debit side of trading account
Liability side
Asset side
(7) Revenue expense is that expense
Which is not recurring in nature
Benefit of which is exhausted in one year
Which increases the useful life and productivity of the asset
Which is shown on the asset side of the Balance Sheet
(8) Donations received for a special purpose are
Debited to that fund
Credited to that fund
Credited to capital fund
Debited to capital fund

They have incurred following expenses during the year ended 31st March, 2013 you
are requested to state whether these expenses are capital expenses, revenue expenses
or deferred revenue expenses.

(1)

(2)
(3)

(4)

(3)
(6)
(7
(8)

Rent paid ¥ 25,000.00 to the landlord for the month of May, 2012 during the
month of June, 2012.

Import duty paid ¥ 35,000.00 on purchase of New Machinery.

Professional Fees paid ¥ 25,000.00 to the advocate for preparing documents
for purchase of new office premises.

Annual Membership fees paid ¥ 5,000.00 to the Machinery Manufactures
Association of India

Bank interest paid ¥ 35,000 on loan taken for purchase of Land & Buildings.
Vat tax paid ¥ 15,000.00
Printing charges paid X 28,000.00

Transfer fees paid ¥ 25,000.00 to the society where the has purchased new office
Premises.

[TURN OVER
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4. Tollowing is Receipts and payment Account of Mangaon Gymnasium for the year ended 16
31st March, 2013.
Receipts T Payments 4
To balance B/d By Audit Fees 25,000
To Member’s Subscription By Tournament Expenses 1,80,000
2011-12 50,000 By Club house 3,25,000
2012-13 8,75,000 By Rates & Insurance 20,100
2013-14 48,000 9,73.000 | By Telephone 42,500
To Members Admission fees 35,000 | By Printing and Stationary 43,300
To Miscellaneous Receipts 42,600 | By General Charges 55,700
To Hire of Ground 63,250 | By Honorarium to Secretary 84,000
To Tournament Contributions 2,30,000 | By Fixed Deposit in Bank 5,70,000
To Donations for club house 3,25,000 | By Sports Equipment 1,50,000
By Repair & maintenance 37.400
By Salaries 1,44,000
By Balance C/d 63,000
17,40,000 17,40,000
Assets As on 1st April, 2012 were :—
Particulars 4
Sports Equipment 1,30,000
Prepaid Insurance 12,000
Club House 6.,75,000
Subscription outstanding 50,000
Liabilities on 1st April, 2012 were :
Printing and Stationary 6,000

Club House Fund 6,75,000

You are furnished with the following further information :—

Subscription outstanding as on 31st March, 2013 are ¥ 40.000/-. Fixed Deposit with
the bank carries interest at 10% per annum. Interest is accrued and due for 6 months.
Write off 30% of Sport Equipments. Prepaid insurance amounts to ¥15,000/- and the
secretary is to be given a bonus of ¥ 25,000/-.

Prepare the Income & Expenditure Account for the year ended 31st March, 2013 and
the Balance Sheet as that date.

Section 11

From the following particulars of Tedha Medha Associates, prepare Trading, Profit & 18
Loss A/c. for the year ended 3 1st March. 2013 and Balance sheet as on that date :—
Assets and Liabilities 31st March, 2012 31st March, 2013
4 4

Furniture 18,250 30,600

Stock 25,120 25,140

Debtors 45,000 ?
Creditors 29,260 34,590
Outstanding General Expenses 2,500 2,800
Cash at Bank 22,330 25,670
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(a) Receipts and Payments during the year

Particulars (4
Receipts from Debtors 3.05.620
Payments to Creditors 2.64.500
Carriage 12.420

Paid for Printing & Stationary 18.350

Paid for Salaries 11.240
Paid for Rent 12.400
Paid for General Expenses 12,460
Commission received 14.550
Furniture purchased 15.750

(b) Goods costing ¥ 5.000 were used by the proprietor for his personal use.

(¢c) Goods are sold at a profit margin of 20% on sales.

(d) Goods costing ¥ 2,400 were distributed as free samples.

(e) Discount allowed to debtors ¥1.480 and discount received from creditors T 1.820.

(f) Any difference in cash book should be assumed to be drawings made or capital introduced
by the proprietor.

(a) Rewrite the following statements by using the proper choice given under the statement.

(1) Following method of stock valuation is recognized by AS-2
FIFO method
LIFO method
Simple Average method
Sliding scale method

(2) Carriage on Sales is
Added to cost of inventory
Deducted from cost of inventory
Multiplied by cost of inventory
Not considered in the cost of inventory

(3) Items of Incomes not pertaining to any department are
Allocated to various departments on the basis of purchases
Charged to General Profit and Loss Account
Charged to that department which shows more sales
Shown in the Balance Sheet as income

(4) Staff welfare expenses are allocated among different departments on the basis of
Sales
Purchases
Number of employees
IFloor space area

8

[ TURN OVER
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(Carriage inwards 1s allocated between the various departments on the basis of

Departmental sales
Departmental purchases
Ratio of area occupied
Ratio of purchase returns
(6) Credit purchases can be ascertained by preparing
['otal debtors A/c
l'otal creditors A/c
CashA/c
Bank A/c
(7) Single Entry system of maintaining A/c can not be followed by
Sole proprietor
Professional
Ltd. company
Partnership firm
(8) G. P.Ratio 25% means
Gross profit is 25% on sales
Gross profit is 25% on purchases
Gross profit is 25% on capital
Gross profit is 25% on cost

(b) Match the Following :

Complete system of maintaining books of Accounts | Profit 33 1/3 % on Cost

Profit 20% on Sales Double entry bookkeeping system
Purchase Returns Trial Balance credit side

Profit 25% on Sales Single entry bookkeeping system
Sales returns Trial balance debit side

Incomplete system of maintaining books of Accounts | Profit 25% on Cost

Sundry debtors credit side Credit purchases

Sundry creditors credit side Discount allowed

Discount received

Cash purchases

Nidhi Industrial Suppliers gives you following information regarding one of their stores

item for the month of June, 2012.
June 1, Stock in hand 1600 units @3 40 each.

Purchases :
June 3 1200 units @ T 41 each
June 10 1000 units @ X 42 each
June 18 400 units @ ¥ 43 each
June 24 1200 units @ X 44 each
June 30 400 units @ X 45 each
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Issues :
June 2 800 units
June 9 1000 units
June 16 600 units
June 23 200 units
June 29 300 units

You are required to prepare stores ledger A/c for the month of June , 2012 under FIFO

Method & Weighted Average Method of Stock valuation.

| 8. M/s. Tejas Traders, Worli has two departments namely Electronic Equipments and Electrical
Appliances.

From the following information prepare departmental trading profit and LLoss A/c for the
year cnded 3 1st March, 2013, allocating various expenses and incomes on suitable basis.

Particulars Electronic Equipments | Electrical Appliances
4 L4
Stock of goods on 1st April, 2012 2,25.450 3.46,750
| | Stack of goods on 31st March, 2013 2,79.840 4,13.780
| Parchases 6.89.720 8,56,620
i ‘sales 8.01.490 12.06,280
Returns outwards 9,720 6,620
Returns inwards 1.490 6,280
* Wages 74.630 84,740
Additional information
No. of employees 8 16
Area occupied : 500 Sq. Feet 700 Sq. Feet
Other Expenses :
Particulars L4
Salaries 36,000
Printing & Stationery 24,000
Postage 15,720
Sundry Expenses 5,750
Carriage inwards 4,950
Carriage outward 7,250
Discount Received 2,250
| Discount Allowed 3,450
| Rent and Rates 2,880
| Insurance (to be allocated equally.) 3,250
Advertising 5,550
| Professional charges (to be allocated equally.) 6,740

—_—

S
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N.B. : (1) Question No. 1 and 7 are compulsory.
(2) Besides compulsory questions, answer any two questions from each section.
(3) Figures to the right indicate full marks.

Section I
1. (a) Define the following (any four) :— 12
(i) Utility
(i) Budget line
(iii) Price elasticity of demand
(iv) Production function
(v) Opportunity cost
(vi) Fixed cost.
(b) Distinguish between (any two) :— 6
(i) Total utility and Marginal utility
(ii) Elastic and Inelastic Demand
(ii1) Private and Social Cost.

2. (a) Explain the properties of indifference curve. 8
(b) Write a note on income effect. 8
3. (a) Explain different types of price elasticity of demand. 8
(b) What are the statistical methods of demand forecasting ? 8
4. (a) Explain the concepts of short-run and long-run production function. 8
(b) Explain the law of variable proportions. 8
5. (a) Explain the nature of and the relationship between average cost and marginal cost. 8
(b) Write explanatory note on long-run- average cost curve. 8
6. Write short notes on (any two) :—
(a) Cross elasticity of demand
(b) Price effect
(c) Economies and diseconomies of scale
(d) Learning curve
| Section II
7. (a) Define the following (any four) :— 12
(i) Marginal Revenue (iv) Oligopoly
(ii)) Industry (v) Dumping
(iii) Selling Cost (vi) Pay-Back Period.

[ TURN OVER




~

Con. 09-DW-1220-13.

(b) Distinguish between (any two) :(—
(1) Normal profit and super normal profit
(i) Perfect competition and Monopoly
(i1i) Average Cost and Marginal Cost.

8. Explain any two of the following objectives of firm :—
(i) Profit Maximisation
(ii)) Growth Maximisation
(iii) Sales Maximisation

9. (a) Explain the features of monopolistic competition.

(b) Explain the equilibrium of a firm under monopolistic competition.

10. (a) Write a note on kinked demand curve.
(b) Explain different types of price discrimination.

11. (a) What is the significance of Capital budgeting ?
(b) Explain any two of the pricing methods.

12. Write short notes on (any two) :—
(a) Break even Analysis
(b) Shut-down point
(c) Features of oligopoly
(d) Net Present Value.

16
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N.B. : (1) Question Nos. 1, 2 and 3 of Section I and Question Nos. 7, 8 and 9 of Section II are
compulsory.
(2) Attempt any one question from question Nos. 4, 5 and 6 of Section I and any one
question from Question Nos. 10, 11 and 12 from Section II.

Section I

1. (a) Study the world map given below and answer the following questions :— 5
(1) What is the theme of this map ?
(1)) Name the cartographic technique used in this map.
(iii) State the amount of foreign debt of Mexico, India and Hongkong.

| WORLD : FOREIGN DEBT

Foreign Dokt in Billion Dollers

300
200 - f
100 Chile {

© Forelgn Dedt

(b) Mark and name of the following in the world map (Refer Page No. 7) - 5
(i) Major rice and wheat producing countries
(i) Desert in Africa
(ii1) Pacific Ocean
(iv) Any two hill stations
(v) Any two developed countries.
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2. Write short notes (any three) :-
(a) Nitrogen cycle
(b) Solar energy
(c) Producers
(d) Optimum Population
(e) Importance of forest
(f) Human resource.

3. Read the case study and answer the associated questions.
Rising waters may leave Mumbai at sea
. A recent study has warned that the predicted sea level rise of 50 cm by 2050
could prove seriously damaging for Mumbai. The research, carried out by Alex De
Sherbinin and two other scholars, suggest that storm surges, coupled with a rise
of 50 ¢cm in the sea level, will render coastal and low-lying areas uninhabitable.
The researchers claimed that Mumbai vulnerability to climate extremes such
a storms playing up in tandem with the sea level rise was higher because of the
poor drainage system and the fact that the city lies in a flood-prone region.
According to the researchers, the city’s location on several seismic faults as
well as its unsanitary methods of disposing raw sewage and industrial waste into
the water and air surrounding it adds to the risk. They warned that the susceptible
railways system would need to be elevated and the drainage system upgraded in
order to reduce the threat from the rising sea. They noted that while projects were
underway to upgrade the drains running alongside the rail lines, they had not been
designed keeping in mind the sea level rise. The team cited another study which
showed that among all the coastal cities Mumbai was most likely to experience
damage because of a rise in sea level.
Moreover, the report said, with shifting likely in the subsurface of reclaimed
lands, many buildings might become uninhabitable due to structural instability.
Mumbai, with almost 55% of its population residing in slums, is also vulnerable
because of lack of dykes and other coastal ‘armaments’ to deal with the sea level
rise. The study says the overall vulnerability of the city remains high and it will
find it hard to cope with flooding and sub-surface shifting of reclaimed and landfilled
areas despite the fact it has a resilient unofficial social response to crisis and
nelaborate disaster management plan.
Questions :
(a) What will be impact of climate change on coastal low lying areas in Mumbai?
Why ?
(b) Why is Mumbai likely to become vulnerable to climate change ?
(c) What were the flaws in planning which made Mumbai vulnerable to storms?
"(d) What are the suggestions made by the researchers to reduce vulnerability of
- -Mumbai to storm water ?
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4,

(a)
(b)

(a)
(®)

(a)
(b)

(a)

(b)

Write note on ‘Ecosystem’.
Explain carbon cycle.

‘Conservation of resources is essential’. Explain,
Explain Fund resources.

‘Poverty is a major problem.” Explain.
Explain the concept of ‘Malnutrition’.

Section II

Mark and name the following in the outline map of Mumbai (Refer Page No. 8):—
(i) Churchgate to Andheri railway route (i) Sahar  (iii) Kanheri Caves
(iv) Elephanta (v) Haji ali (vi) Thane Creek.
Mark and name the following in the outline map of Konkan (Refer Page No. 8) :-
(i) Mumbai Suburban district (ii) Amboli Ghat (iii) Konkan railway from
Ratnagiri to Kudal (iv) Raigad district (v) N.H. No. 17 (vi) Thane City.

Write short notes (any three) :—

(a) Flood (b) Modes of transport (c) Desertification (d) Cyclones (e) Dot map
() New tourism.

Read the case study and answer the associated questions :-
Villages to get climate managers

The battle against climate change is all set to go down to every village in the country.
In a bid to create awareness about global warming, the government has decided to
train and appoint “Climate managers” in villages whose main task will be to create
awareness and take steps for sustainable development at the grassroots level. Besides,
they will be trained to handle natural disasters and prepare their areas to face such
crises. Three agencies have been tasked with implementing the project-the ministries
of panchayati raj and science and technology and the chair sustainable development
at the Indira Gandhi National Open University (Ignou).

The programme was aimed at meeting the challenges of climate change and sustainable
development. “People at the grassroots will be the first to bear the brunt of climate
change. So, we have decided to train people in villages to be climate managers.
“The task of managing climate change will be customized as per local needs. A man
and a woman climate manager from each gram sabha will be trained in the science
and art of managing climate change and enhance their capacity to cope with natural
calamities.”

Questions :

(a) Why did the Government decided to appoint climate managers in every village?

(b) What will be the main task of the climate managers ?

(c) Name the agencies which will shoulder the responsibility of training climate manager.

(d) Suppose you are a climate manager in coastal village in Konkan. How will you
plan your programme to overcome climate change ?

N ~No N
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10. (a) ‘India is an ideal country for the development of tourism.’ Explain. 10
(b) State the various problems related to tourism. 5
11. (a) Explain the causes and effects of man-made disasters. 10
(b) Write note on ‘Earthquakes. 5
12. (a) Explain the impact of tourism on Environment. 10
(b) Write note on ‘Acid rain’. 5

(7t =)
(3 9M) [@gor 7ot : 200
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N.B. : (1) All questions are compulsory.
(2) Figures (o the right indicate full marks.

[. (a) Correct the following sentences :(— 0
| (1) Suvarna have a scooter

(i) He walk slowly

(ii) Dogs is barking.

(b) Fill in the blanks :— 6
(1) Receiversends __ to sender (Message/Feedback)
(i1) A person who decodes is called (Sender/Receiver)
(i11) Sender sends the (Message/Feedback)
2. Write short notes on any four of the following :— 20
(1) Interwiew (11) Meeling (111) Horizontal Communication
i (iv) Report (v) Conference  (vi) Agenda
! 3. (i) Discuss in detail any two types of interviews. 10
! OR
(i) Write a detailed note on *Group Discussion’. 10
4. Wrile a letter of application i response (o the following advertisement -— 10
““Wanted Sales-Lxcecutives. Condidates should be a graduate, smart and resuli-oriented.
‘ Knowledge of computer preferred. Write to Box No. B-420, the Times of India, Mumbai-
. 400 001.”

5 Write any four letters out of following :— 24
(a)  Write Sales letter to promote the sale of a Frost-Free Refrigerator,
(b)  Draft RTI Queries for the following situation :—

Your application for an home loan is rejected.

(c)  Youhave purchased a Konku computer. It is not working. Draft a redressal letter

(d)  You have placed an order for 10 dozen wall-clocks by paying ¥ 17,000/-. The
supplier assured to deliver your order within 5 days. You have not received after
10 days. Write a complaint letter.

(¢)  You have received a complaint letter from your customer. He claims that Ultra-
Washing machine is not working properly. He wants replacement for this. Draft
a letter refusing his claim.

(f)  Assume that you are working as a sales executive at Reliance Company. Now
you want to resign from the copany for continuing your further study. Draft a
resignation letter to Reliance Company Ltd.

=)

6. (a) Draft the individual report for ‘Traffic suggestions for Mumbai City’.
(b) Draft the Notice and Agenda of the Sixth Board Meeting of a Company. Also draft 8
carefully worded resolutions for any two items on the Agenda.

7. (a) A committee has been appointed to investigate the causes of decline in sales of your 10
company's product. Write a report.
OR
(b) For the academic year 2012-2013, a committee has been appointed to look into the 10

causes of the decline in results of ATKT college at University examinations. Draft
the report.
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[ Con. 41-13. (REVISED COURSE) DW-1166
: (3 Hours) [Total Marks : 100

N.B. : (I) Auempt any three questions from Question 1 to Question 5§ from Section 1.
(2) Attempt any three questions from Question 7 to Question 11 from Section II.
(3) Question 6 in Section I is compulsory.
(4) Question 12 in Section II is compulsory.
' (5) Figures to the right indicate full marks.
(6) Both the sections should be written in the same answerbook.

Section [

} 1. “Indian Society is multi-cultural in nature.”’ Discsuss. 12
2. Write a note on the Declining Sex Ratio in India. 12
} 3. Describe the different racial, religious and linguistics groups in India. 12
| 4. Describe the Unique hallmarks of the Indian Constitution. 12
5. Write a note on 73rd Costitutional Amendment Act. 12
6. Write short notes on the following (any two) :— 14
(a) Causes of Alcoholism (¢) Effects of HIV/AIDS on Indian Society
(b) Problems of Senior Citizens (d) Causes of Child Labour in India.

Section II
7. Explain liberalization. Discuss Important changes brought about after liberalisation. 12

8. What are fundamental rights ? Explain the main classification of fundamental rights. 12

9. Discuss factors that have led to enviornment Degradation. 12
10. Describe the various agents of Socialization. 12

1. Examine the different types of conflicts faced by an individual. Discuss mecthods of 12
conflict resolution.

I2. Write short notes on the following (any two) :— 14
(a) Impact of globalization on housing (c) Genetically modified food
(b) Effects of globalization on Culture (d) Farmer’s suicides.
i (MRS wUiER)
(Fuia sramase)
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Con. 41-13. (OLD COURSE) DW-1166
(3 Hours) [Total Marks : 100
N.B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Both the sections should be written in the same answerbook.
Section I
|. (a) Describe the multi-religious characters of India. 6
OR
(a) Explain the factors responsible for regional imbalance in India.
(b) Explain the meaning and characteristics of drug addiction. 8
OR
(b) What are the factors leading to alcoholism ? Explain how to deal with the same.
2. (a) What is communalism ? Explain with examples, how it leads to inter group conflict. 8
OR
(a) Describe the main features of linguistic conflicts in India.
(h) How AIDS can be prevented ? 4
OR
(b) What are the effects of smoking ?
3. (a) Discuss the various types of violence against women. 8
OR
(a) What is handicap ? Explain about physically handicaped.
(b) Explain the problems of Senior Citizen in India. 4
OR

(b) State the welfare measures to solve the problems of elderly.
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4. (a) Discuss the basic features of Indian Constitution. 8
OR
(a) What are the fundamental duties of Indian Citizens ?
(b) State the effect of Child Labour. 4
OR

(b) What are the legal protection to children ?

Section 11

5. (a) Examine the arguments against Privatisation. 6
OR
(a) Explain the role of Multi national companies in Indian Economy.
(b) Discuss the causes of stress. Suggest measures to control stress. 8
OR

(b) Discuss the importance of heredity in individual development.

6. (a) Discuss the disadvantages of globalization on agriculture in developing countries. 8

OR
(a) Study the impact of globalization on housing and sanitation in India.
(b) Explain any two agents of socialization. A
OR
(b) State the direct ways of conflict Resolution.
7. (a) Explain the changing values and life styles in India as a result of globalization. 8
OR
(a) Explain impact of Globalization on employment with special reference to outsorcing
and Migration.
* (b) Write a note on Realistic Goal setting. 4
OR
(b) Discuss the salient features of Self-Actualization theory.
8. (a) What is urbanization ? What are its effects on health ? 8
OR
(a) Bring out the impact of globalization on Indian economy.
(b) Describe the importance of Time Management in our career. 4
OR

(b) Elaborate on significance of Aptitude Test.

(3 ™) [ QPO TUT : oo
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